1 2 3 4 6
= Sioie S59835585
SRVRR™ SESENESISISESE
VEVEVEY) VAVIVIVIVIVIVIY,
+5 SElEE +5 SSSSsSs¢S
G2 Ul C3 U2
GND|—| 20 vcc OE kA GND|—| 20 vee  OF kA
IE Ll IE 1l
100n 100n Il
BOOST2 19 | o, .2 AOEN _ 19 | ) 2 AOENI 1 (5™
BLM31PGI21  BOOSTS 18 | ) Dy =2 BOOSTL 18 | ) Do 3 BOOSTI1 20 o
CEXCSWI —— Fl 7 03 D3 4 CEXCSW CEXCEN 17 | o D3 4 CEXCENI 2[5 39 Bl
FEXCSWI_ == F2 16| o Da |5 FEXCSW FEXCEN 16 | oo D4 L3 FEXCENI 21 o
PFDSWI_—— F3 5] s Ds 6 PFDSW RMPEN 15 | o Ds 6 RMPENI 3 15 38
HI #4 screw, 3/8" OK1 ——"F1 14 o De SZ_OK RI6 NL EOMEN 14 | o D6 |2 EOMENI 22 o
SPAREI == R3 0 3] o D7 =8 2 Y- SPAREI PFDSGN 13 | o7 D7 o8 PFDSGNI 45
H2 #4 screw, 3/8" SPARE2 __—— R4 0 12 9 ——  SPARE2 FSGN___ 12 9 FSGNI 23
— o 1055 — e 1Dig BOOST2I 5 O
McMaster-Carr 10 RN 10 BOOST3I 74 1°
90272A108 DD G G | G CEXCSWI D 9
H3  #4 lock washer SN74ALS573 SN74ALS573 FEXCSWI 25 5
] PFDSWI 715
H4 #4 lock washer Z{= OKI 26 o
= = = SPARELI 8 [ o
McMaster-Carr 5] 13 = 23] SPARE2I 27 o
91113A005 =l O[S LO P CH P
H5 #4 nut cl S5 2 g 28 5
100n o < o O e oo RF P 10 |5
H6 #4 nut 22 LR [SSEspmpspp g 29 o
MIXRI I
McMaster-Carr 30 o
90480A005 EOMRMSI 21
31
GND GND GND FASTI EN P O
| 32
cgre ONPH—7 o O
H7 #4 screw, 3/8" RS RIS R19 CGL- 33 5
B2 100K 100K 100K OSI+ E
HS8 #4 screw, 3/8" OSI- 34 o
E = FGI+ 16
I — % n 3 O
McMaster-Carr Bracket % §)< N FGI- 35 o
90272A108 A 2 2 FOI+ 7 15
H9  #4 lock washer Bl © = A~ FOI- 36 o
SLW+ 3 |5
H10  #4 lock washer - D D SLW- 37 o
CEXCEN Q1 FEXCEN Q2 PFDSGN Q3 19
HIT #4 nut "'> "') GND 2
FDV30IN FDV301IN FDV30IN
S S S DB37F
H12 #4 nut
GND GND
HI3  #4 screw, 3/8" spARE3: RO NL - opippyy p1 P3
R7 NL 1O IF lle o2 s +15 1
Hi14  #4 screw, 3/8" SPARE3- — " SPARE2I RF P 31 e elt o ) + 15V
| S|
RE NL SO 5 1L R LE GND 3 -
McMaster-Carr SPAREAI " SPAREII e @ 8(( OK | 2
90272A108 — 9 1
H15  #4 lock washer GNDl RML SPARE2I e o G —l-g ‘ 2 isv
I = 09 18 510 6329
H16  #4 lock washer
HI7 #4 nut
e #4 mut Digital controls: Digital readbacks: Analog controls:

1 - Additive offset enable
20 - Boost 1 enable

2 - Commen excitation enable
21 - Fast excitation enable
3 - Ramp enable

22 - EOM path enable

4 - PFD/mixer sign

23 - Fast path sign

5 - Boost 2 enable

24 - Boost 3 enable

8 - Spare 1

27 - Spare 2

6 - Common excitation state
25 - Fast excitation state

7 - PFD/mixer sign state

26 - Supply OK

14/33 - Common gain
15/34 - Common offset
16/35 - Fast gain

17/36 - Fast offset
18/37 - Slow control

Analog readbacks:
9/28 - LO power
10/29 - RF power
11/30 - Mixer (error point)
12/31 - EOM RMS value
13/32 - Fast output

Title
TTFFS: HV/Interface
Size Number Revision
5 D1700076
Date: 1/31/2018 [ Sheet1 of 4
File: D:\Users\.\TTFSSHV1.SchDoc | Drawn By: D. Sigg

| 6




GND GND GND GND

G RS0 o8

-15

cs R50 €20 31 [r71 R
100n
I R36 Tm()n 13.3K | 1 P2 ) S R6s TlOOn 200K on 13.3K
R48 +15} ? > T® &1 |GND ) R77
TO0K TO0OK 1 e o T00K T00K 1
200K 15} v 1o o AD706 200K
sl 9 : : 10 28
5| 1 |leg el12 100n GND
- AOQEN 13 | g @ 14 BOOSTI
CEXCEN 15 | o g | 16 FEXCEN N g 1000
RMPEN 17 | o g | 18 EOMEN FGI- 66 7
BOOST2 19 20 BOOST3 TR
T00K T00K Sgele = : : = I T00K T00K 200K CI?O
CEXCSW 23 | o o | 24 FEXCSW 1
SPARE3+ 25 | o g | 26 SPARE3- il
CG 27 28
o o |GND
0S 29 | g o]0
FG 31| e el 32
FO 3 e el
GND GND SPARE4 35 | o g | 36 PFDSW GND GND
MIXR 37 | o o |38 C36
PZTRS 39 | o g 40 |_|GND
9 PZT il e el 22 c32 [Ir72 R R8I
100n EOM25__43 44 100n | |200K 100n NL
osi+ R3O R38 249 EOM 45 : : 46 For+ ROl Ro7 U10A R78
100K 00K . EOMRMS 47 | o o | 48 100K 00K i 1 C—1
|
oo SLOW 49 | o @15% 46np 200K
L AD706
09 18 550 7324 29
100n GND
100n
O R68 R75
| S|
100K 100K T00K T00K 200K C41
|
100n
R34 R41 R51 GD 038 LY
GND|—— 1} ' 1 GND}——— 1}
NL 100 NL 5 (e |—|GND
<
Cl12 In 200K 100n
sLw+ R63 R69 Ul1A
GND o 3 : R79
. T00K T00K '_|2001<
U4 AD706
0P97 €30
R47 MIXRI RS7T — pAsTI In
R52 LT GND
100 FASTM /™= 100 100n
200K R64 R70 R76
SLW-
CI3 100K 100K 200K
c42
>—H—|GND ||
GND 100n GND 100n 1|n|
R32 R53
GND} 1 GND}
NL NL
R46  gpARE4I RS8  FOMRMSI
SPARE4  R33 T EOMRMS R34 T
| S|
200K 6 200K
Title
TTFFS: HV/Interface

Size Number Revision
B D1700076

Date: 1/31/2018 [ Sheet 2 of 4

File: D:\Users\..\TTFSSHV2.SchDoc | Drawn By: D. Sigg

1 ‘ 2 3 4 5 ‘ 6




Generic Filter Option Output High Voltage Drive Output Filtering
240 Hz / 33 kHz poles & 0 Hz / 3 MHz zeros 2.8 MHz pole
T RT_ T
I N
e RS2 RS6
GND| | —
' I NL 100
+15
i(:50 ]—csz
c47 RE3 100n 4.7u l< 3
™2 ) :lNL ' GND MMBF4416A L &
1 TP3 b
EOM ] ? (|3|55 RO3 % . R103 EOM
R&:N Il _— an 9 SMA
T 5 In * (3).550\)\&// C63 (3)§50V\\;
- C56 500V
AD829JR 15 [l 100p GND
R85 ——C53 I
NL 68p 220n R102
€49 Cs1 0
100n 4.7u 220V 330n +| 3.3u 350V
GND GND
GND GND
RI6 R100 Q EOM/25
| S|
100K 100K
e C59 8550&// R101
0.5W A
0 H 4.02K
1
350V 47p
0.5W 500V
GND
GND
+15 +200
Dl
2.7V R92 lf(}gé
C54 10K 350V
1) l—" u13 TP7 0.5W
P4 RS R0 oo | T1e2019 TP4 R105
+200——1—
o+ +200 M 3K 10 Vee__ | s RO4 ? oK h0K
2 oD ADJl  RST C 1 TPS GND
o+ 200 R89 RIZ 7 3 0 R106
20— 1+——_ }——— REF OUTI —x
3W3K 350V 2 | api2 our2 A< TPY
. . R107
Positve: VTrip = (IM/Rp + 1) / 2 . X<~ SE GNDTMR Modifications for PMC pole: oo
Negative: VTrip = (1 — 1IM/Rn) / 2 2V Limit the roll-off to 600 kHz by e
Rp=3.00K: VTrip = +170V GND 4 - increasing R88 to 5.62K. and -200
Rn=3.00K: VTrip =170V GND - removing C61.
Title
TTFFS: HV/Interface
Size Number Revision
B D1700076
Date: 1/31/2018 [ Sheet 3 of 4
File: D:\Users\..\TTFSSHV3.SchDoc | Drawn By: D. Sigg

6




Fast Path Polarity

Output Offset

Output High Voltage Drive
10 Hz / 100 Hz pole/zero

Output Filtering
100 Hz pole

R112 R117
1 1
| S| | S|
3K 1.5K
C66 Cc78
|| ||
[l [
NL NL +5
Cc79
+15|—>—| |—|GND TP16
TP10 TP12 100n TP14 U
U R108 R116 uls R118 Ds - FAST
PZT e Fl AD8671 F2 3K
| S| N
3K 3K 6 15K l 350V SMA
R109 S 0.5W
e GND
+REF C82 —C90 C94
uls NL 68p 500V
—%’D—v Logic 0 | _,5|_,_| GND -5 500V In
Fsgn OND zjﬁ I> 100n TP17
. GND | 3 GND q GO
+15 LV V- i -15
I R134 PZT/25
C64 MAX4659 C65 100K
100n 100n 350V
RI119 R120 Ri26 0-3W C87 0.5W R136
GND GND NL 0 [ 4.02K
33K '
350V In
0.5W 500V
200 s GND
500V
Slow Path Output Driver
40 Hz pole, gain 0.2
RI133
1
+15 S0
M“u 2 (LI TP15 +|5|—<—| GND
i 2 [N Q 100n - TP19
R110 TP13 C83 VOUT k-8 *+REF RI128 ?
SLOW _ ~20 1. U17 SLOW 1006 SO 6 -REF
| S| -
e AD620BR Q 3 4 | GND GND GND
R111 C67 =—c70 6 - u21
4.99K Tln Tlu - = GND LT1021-10 ADS671
GND} 5 SMA
I
< s c92
——C81 -|5|—~—| GND
NL PZT RI122 FASTM 100n
C73 C76 1 N
100 47
= Y GND o R123
GND — —e
0RI24 Title
F2 TTFFS: HV/Interface
TI\{IES Size Number Revision
PZT/25 B D1700076
NL Date: 1/31/2018 | Sheet 4 of 4
File: D:\Users\..\TTFSSHV4.SchDoc | Drawn By: D. Sigg

| 6




